4, {aj Discuss the trend and composition of
National Income in India. 11

Or

(b) What do you mean by occupational
structure? Discuss India’s occupational
structure from 1951 onward. 3+8=11

5. f(a) Discuss the growth strategy of Indian

cconomy during the 1st plan period. 11
Or

(b} What do you mean by fiscal policy?

Mention the objectives of fiscal policy

in India. Briefly discuss how fiscal

policy helps in  achieving economic
development in India. 2+6+3=11

6. Do you think the policy to - restructure

agrarian relation helps in  regulating
concentration of economic power? Discuss, 11

Or

Explain the relationship between population

growth and economic development. 11

7. What is food security? Discuss how public
distribution system helps in achieving food
security, 3+8=11

_ Or
Throw a light on various macro-economic
stabilization policies adopted in India from

1990s onward. 11
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1. Answer the following as dirccted" 1A8~,3 :

(a) Which one of the following mdu:c:*s 1 gt
not considered while calculatmg HDI’? hie

(i) Life expectancy

(ii) Education
(it} Housing

(iv) Income _
(Choose the corrc,m answcr}
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(b} Which one of the following sectors was
the major contributor to the Gross
Domestic Product during the British
rule in India?

(i) Primary Sector
(ijj Secondary Sector
(iiij Tertiary Sector
{ivj None of the above
{Choose the correct answer)
(cj Which one of the following is not an
indicator of an economically developed
nation?
(ij High level of literacy
(i) Low death rate
(itij High per capita income
fiv) High proportion of labour in the
primary sector
(Choose the correct answer)

{d) Who was the Finance Minister of India
during economic reforms of 19917

fe). Which one of the following
' organizations is a Navaratna?
(i) NALCO
{ii} BSNL
(i} Air India
fiv) 10C
(Choose the correct answer)

{ Continued }

(g]

(h)

Which one of the following agencies is
responsible for formulating the Fiscal
Policy in India? - '

(i} SEBI

(ii) RBI

(iii) Ministry of Finance, “Gol’

(ivy NABARD
(Choose the correct answer)

One of the problems of lndlas Fore:gn i
Trade is :
(i) payment of import in rupees
(i) increasing quantity of exports
(i) unfavourable terms of trade
(iv) None of the above
(Choose the correct answer) .

Mention one poverty  alleviation.
programme. of Government of India

2. Write short notes on any four of the

following : 4x4=16
fa) Concept of Human Development R
() Green Revolution
(c) Small-scale Industries :
(d) Role of Service Sector in Indxa
(e} FDI and India :
3. (@) Discuss the methods  of measurmg o
economic development. : A2
Or : o
(h) What is Human Development Index?
Elaborate how HDI is constructed? Why
is HDI considered as better measure of
economic development? : 2+8+2=12 -
pP23/1162 S '(:Tum-Ov?_r}

(% Scanned with OKEN Scanner



